PART No:

T1A3-4

FILE: SpecT1A3-4.t4g

APP. SUPPLIER:

MATERIAL:

measured from bottom of case

11/8" C.G (Ref)

7/8-18 UNS 2A Knurled Cap Nut 138
0.59+0.06 retracted I : ]
| Name
o ) |Plate
0.50
% 8| =
> Al
o
o
V]
o —
0.80 0.28 4 Pin Male Connector
UMA# 11216
w/ Adapter Name Plate is placed around case Pin 1 Power Input (+VSS)
Tang #11022 Contains UMA Number, Serial Number, Pin 2 Ground
and Weight in pounds Pin 3 Signal Output
Pin 4 Not used
2.61

SPECIFICATIONS:

01.
02.
03.
04.
05.
06.
07.
08.
09.
10.
1.

Input voltage (+VSS) range is 4.5 to 16 volts DC, current draw 10mA.

Output square wave 0 to +VSS, 4 pulses per tang revolution, Impedance is 2.7K ohm.

Unit is connected to the Mechanical Tachometer Drive port on engine.

Standard Tang, UMA PN: 11022, is used to adapt TSU to engine, others available.
Tang P/N 11022 will shear at a maximum of 35 In. Lbs. of torque.

Less than 5 In. Ibs. of torque required to maintain tang speed up to 2000 RPM

Oil impregnated, self lubricating, wear resistant sleeve bearing.

Rotation CW or CCW

Signal Ground not connected to case.

Printed circuit board is conformal coated (MIL-1-46058C Type SR or equivalent).
Weight is 0.2 pounds.

Specification Drawing

12. Unit is to be used in conjunction with UMA P/N: 1D6 wiring harness
TOLERANCES UMA Inc, 260 Main St. Dayton, VA 22821
AS NOTED

SCALE 1:1 DATE: 02/04/98 SHEET . -
SUPPLIER COMPLETE []|DRAW BY C.BH.

XX 00! SCRIPTION
DE

XXX +0.005 TSO'd TACHOMETER ROTATING SENDING UNIT
APP PART# REV

ANGULAR  +I°

ECO

REV DESCRIPTION DR DATE APP

T1A3-4

IR



Eng1
Rectangle

Eng1
Typewriter
7/8-18 UNS 2A Knurled Cap Nut


PARTNo:  T[JA[I[ [ 1-[1| FILE: SpecTXAXX-XX-X Rev A Pgl.téquPP. SUPPLIER:

MATERIAL:
11/8" C.G (Ref) 4 Pin Male Connector
T 0.2920.06 Pin1 P Input (+VSS
ang Knurled Nut __| retracted P:z 2 G?(\;\:Jer:dnpu (+VS9)
2 7/8-180r [ T~ Pin 3 Signal Output
o M22 X 1.5 T~ Pin 4 Not used
©
g 1> =
= 4 Pin Male 10 Oy
5 o
o 0.50 Connector
0 o 20 O3
£ 2 — ‘ &
o=
B8 / \
)
FAA approved label 15060-7 .
(0] -
S 0.2 w/ Adapter 0.80 to be attached to the side 0.28 ConnectoGl;)I;:;nPll\al\{Ier#; 64163-2
Tang #11022 i of housing. :
Pin 1 Signal Ground
3 2.61 (orange)
] PN Holes Allow Installatio Pin 2 Power Input
ks | of a Safety Wire ~ (white)
£ ] m - Nylon Connector Pin 3 Signal Output
e — (blue)
8 x o ™ 2
a X
£ <§’: Hex Nut o
2o - 7/8-18 or M22 X 1.5 — Tyco/Amp :
3 el B ' M27500-22ML3T08 826885-8 connector
% o - \b cable
® Slotted Shaft 1
E . 0.57 No Connector
Connection Type Fitting Type
SPECIFICATIONS:
01. Input voltage (+VSS) range is 4.5 to 16 volts DC, current draw 10mA. range/White Wire - Power
02. Output square wave 0 to +VSS, 2 or 4 pulses per tang revolution (dependent on QBIueg/Whit:a Wirle _ Gronvnd
unit purchased), Impedance is 2.7K ohm. White Wire - Signal Out
03. Unit is connected to the Mechanical Tachometer Drive port on engine.
04. Standard Tang, UMA PN: 11022, is used to adapt TSU to engine, others available. .
05. Tang P/N 11022 will shear at a maximum of 35 In. Lbs. of torque. Case Connection Connection on End of Cable
06. Less than 5 In. Ibs. of torque required to maintain tang speed up to 2000 RPM

07. Oil impregnated, self lubricating, wear resistant sleeve bearing.

08. Rotation CW or CCW

09. Signal Ground not connected to case.

10. Printed circuit board is conformal coated (MIL-1-46058C Type SR or equivalent). o . -

11, Weight is 0.2 pounds. Specification Drawing

12. Unit is to be used in conjunction with UMA P/N: 1D6 wiring harness

TR AT UMA Inc, 260 Main St. Dayton, VA 22821
AS NOTED
SCALE 1:1 DATE: 9-7-17 SHEET 10f3

XX £0.05 SUPPLIER COMPLETE |:| DRAW BY R.E. M.

XXX 0010 DESCRIPTION TSO'd TACHOMETER ROTATING SENDING UNIT &
2019015 | B Add[]to P/N, New Magnet Mfg. |REM | 8/19/19 | ShM TSO'd SHORT, TACHOMETER ROTATING SENDING UNIT
2018013 | A Added short body TSU REM| 06/15/18 | shM | , . . [ PARTH REV

ECO REV DESCRIPTION DR DATE APP - T[ ]A[ ][ ]'[ ][ ]'[ ] B




PARTNo:  T[JA[N[ 11 1-[1| FILE: SpecTXAXX-XX-X RevAsz.taquPP. SUPPLIER:
MATERIAL:
0.59+0.06 FAA approved label 15060-7 4 Pin Male Connector
Tang to be attached to the side Pin 1 Power Input (+VSS)
Knurled Nut__| of housing. Pin 2 Ground
Q 7/8-18 or Pin 3 Signal Output
g M22 X 1.5 T~ Pin 4 Not used
...6 -
e I <
2 o 0.50 %, 4 Pin Male 10 04
S x. S = ' M272 S0 B8O ros 20 ©3
S <§( — cable
S o
23 [ |
3 S
aé 0.2 / Adaptef Connector Pin AMP # 164163-2
: W Gold Plate x 3
Tang #11022 0-65 0.98 e x
Pin 1 Signal Ground
o (orange)
S PR Holes Allow Installatio Pin (2 EF{W)G" Input
5 of a Safety Wire white
g — ] Nylon Connector P|n 3b|S|gna| Output
5 ] o Case Connection (blue)
¥e) é, o
E E - 7/8-18Hg:( #5‘5 X1.5 - Tyco/Amp
M S 826885-8 connector
@ 0 L] \o\
5 o
(2]
d Slotted Shaft 1
= - 0.57 No Connector
Connection Type Fitting Type

SPECIFICATIONS:

01. Input voltage (+VSS) range is 4.5 to 16 volts DC, current draw 10mA.

02. Output square wave 0 to +VSS, 2 or 4 pulses per tang revolution (dependent on
unit purchased), Impedance is 2.7K ohm.

03. Unit is connected to the Mechanical Tachometer Drive port on engine.

04. Standard Tang, UMA PN: 11022, is used to adapt TSU to engine, others available.

05. Tang P/N 11022 will shear at a maximum of 35 In. Lbs. of torque.

06. Less than 5 In. Ibs. of torque required to maintain tang speed up to 2000 RPM

07. Oil impregnated, self lubricating, wear resistant sleeve bearing.

08. Rotation CW or CCW

09. Signal Ground not connected to case.

10. Printed circuit board is conformal coated (MIL-1-46058C Type SR or equivalent).

11. Weight is 0.2 pounds.

12. Unit is to be used in conjunction with UMA P/N: 1D6 wiring harness

Qrange/White Wire - Power
Blue /White Wire - Ground
White Wire - Signal Out

Connection on End of Cable

Specification Drawing

TOLERANCES

EXCEPT

AS NOTED

UMA Inc, 260 Main St. Dayton, VA 22821

SCALE 1:1 DATE:

6/15/18 SHEET

20f3

XX +0.05

XXX +0.010

2019015 B Add[]to P/N, New Magnet Mfg. |REM| 8/19/19 | ShM
2018013 A Added short body TSU REM| 06/15/18 | ShM ANGULAR  +1°
ECO REV DESCRIPTION DR DATE APP

SUPPLIER COMPLETE []|DRAW BY

R.E. M.

DESCRIPTION

TSO'd TACHOMETER ROTATING SENDING UNIT &
TSO'd SHORT, TACHOMETER ROTATING SENDING UNIT

APP PART#

REV

THATLFLICT] °




PART No: THAINH ] FILE: SpecTXAXX-XX-X Rev A Pg3.t4g APP. SUPPLIER:
MATERIAL.:
Connection on
Required End of Cable
ionT Pulse

Connection Type u 4 = 4 Pin Male Connector

3 = Tang 4 = 4 Pulse C =3 Pin

4 = Slotted Shaft 2 =2 Pulse None = No Connector

| /
TLIALILIFLIL L]
Fitting Type Body Type Case Connection
. C = Nylon Connector
1 = 7/8-18 Knurled Nut None = Original Body Type None = 4 Pin Male Connector
2 = 7/8-18 Hex Nut S = Short Body Type one !
3 =22mm X 1.5 Knurled Nut
4 =22mm X 1.5 Hex Nut
TOLER ACES UMA Inc, 260 Main St. Dayton, VA 22821
AS NOTED
SCALE DATE: 9/7/17 SHEET
XX SUPPLIER COMPLETE D DRAW BY REM 30f3
XXX DESCRIPTION TSO'd TACHOMETER ROTATING SENDING UNIT &
2019015 | B |Add[]to P/N, New Magnet Mig. | REM, 8/19/19 | ShM TSO'd SHORT, TACHOMETER ROTATING SENDING UNIT
2018013 | A Added short body TSU REM| 06/15/18 | ShM PP PARTY REV
ECO REV DESCRIPTION DR DATE APP ANGULAR TOALDHICH] B




	SpecT1A3-4.t4g-1
	SpecTxAxx-xx-x-Rev-B-All3-1



